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Hong Kong Attainment Test
BEEER AR

(Pre-Secondary 1 & — A7)

Mathematics
S 5

Mock Paper 1 i&f#stE (—)

Time allowed for the test: 50 minutes
BB 5045048

Instructions:

1. This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 36

Answer ALL questions.
Write your answers on the answer sheet.

Write your Name, Class and Class Number on the answer sheet.

i

no need to rub it out after the test.

6. The use of calculator is not allowed.
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You may do your rough work in the blank space of this test booklet and there is
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19. In the above figure, Q is 400 m
Gﬁj south-west of P. If Tina walks 300 m
south-east from P, then 200 m south-
west and then 300 m north-west,
what direction is Tina from Q now?

How far away are they?

19. FE¥ Q&EP#&H&EF 400 m

ﬁﬁyﬁ%iﬁmpﬁﬁ@ﬁiymm»
Rpse i d A 200 m R4S
m kA 300 me REHAELE Q
R —7 ? AAFE % % ?

A. south-west, 200 m A. ®& 200m
B. north-east, 200 m B. %3 200m
C. south-west, 500 m C. %% 500m
D. north-east, 500 m D. %3 500m
5 8cm .
R
Q
P
| 8cm | 8cm )

20. The above figure is formed by two
triangles and one parallelogram. Which
of the following is correct?

A. The area of P is the largest.
B. The area of Q is the largest.
C. The area of R is the largest.
D. The areas of P, Q and R are

equal.

20, LB XHWME=ZAEfe—EFiTw
TG LR, 0 T AIR—IR R EAEAY ?

P@@mMAE K o
Q W@ MR’ K
R 9@ Ak K o
P-QAR&EMAME -

S aw >




Seciiono (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

[

eﬁﬂ (40 %)

BRAGRITE RS » ERIZANEDRIER -

B HE

BEHER -

31.  May’s mother held a birthday party for | 31. EZEEEERRITEB G - £ H
her. The party was 4% hours long. o JE i 4 41‘ DN P I ERA T
Playing games took 1% hours, which 1 112 N B R Y 2 25
was 1% hours less than the teatime. B ERTE R A4 IRITR o
The rest of the time was for the photo
session.

(a) How long was the teatime? (a) ZRETEFMERS S g ?
[4 marks] [4 o]
(b) How many hours did they spend (b) te AR AT % FveF 2 (R
on the photo session? (Give the 488k K &)
answer only) 2 5]
[2 marks]
32. A clown had 45 balloons. He could use 32. WNEHRFK4LSE - A 218 R FHK

2 balloons to make a balloon dog.

(a) He made n balloon dogs. How
many balloons did he use? How
many balloons were left? (Give
the answer only and express it in
terms of n)

[2 marks]

The number of balloon cats made
by the clown was 3 times and 5
more than that of balloon dogs.
How many balloon cats did he
make? (Give the answer only and
express it in terms of n)

(b)

[2 marks]

BT 2K — A o

S8 2 RERRK S S A 2
AHHAER AR n AT

[2 2]

7\

(@) AT n B B xRHKS
(D
)

N FE A R IR AR R D S 0 BE R
NRGIES 5K otk T
WS B (RASHE

/
£ EEMUnET)

(b)

[2 2]

hFER - BHEEs (—)
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[E2

Hong Kong Attainment Test
BEERRER

Pre-Secondary 1 Mathematics
h— AZHHER

Mock Paper 1 #E#EE (—)

Answer Sheet ZRE#

Name
HE (English) (F32)
Class Class No.
iR : AT
Total Marks
e

Seciiono (60 marks) You only need to write down the letter preceding
the selected answer. (2 marks each)

@%B (60 B) =4 O/ FFRRERANRTZE - (BE29)

1. 6. 11. 16. 21. 26.
2. 7. 12. 17. 22. 27.
3. 8. 13. 18. 23. 28.
4. 9. 14. 19. 24. 29.
5. 10. 15. 20. 25. 30.
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N Working steps must be shown in answering questions | Teachers use only
Section (40 marks) " in this section unless specified otherwise. ISR
e%‘B (4020 mrsplfERAsh - EEIEAREER - AVIHAESH -
Marks
[Spa)
31 (a).
4
31 (b).
They spent hour.
dRAT _ hEF o
2
32 (a).
He used balloons, and
o R 2 18 R ER
balloons were left.
iR R 18 KK o
2
32 (b).
He made balloon cats.
k42T B o
2
33 (a).
The Playground is to the of the Zoo.
o 8235 75 B [ 89 Ty o
2
Go On To Next Page
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